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No NAME k/V/L/DWP HR|BG| P | AVE | R
1| s A& 1/3/0l2|6]|15| 73 |107|0.682| 3
ARAI 29.315
2 | L E—RR 4/0/0|8|6|(22] 80 |111]0.720] 1

JINBR 27.750
3| g ARyME - 1/3/0| 2| 4|25| 61 |121]0.504| 4
o 39.672

4| Rt —K 0/4/0/0|3/|-| 49 |100]0.490| 5
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No NAME |\/V/ L / D|WP|HR|BG| P | AVE | R

1 EF‘,% ﬁﬂﬂ 3/0/1(7|(5]19| 80 | 95 |0.842| 1
ARENA 23.750

2 | kM R 0/3/1| 1|4|28| 55 (101|0.544| 5
/NIl 36.727

3 HY  1E 2/2/0(4|5]29| 63 |1180.533| 3
BAZ 37.460
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No NAME |\/V/ L / D|WP|HR|BG| P | AVE | R

1| ANy B 4/0/0[ 8|5 |11| 60 | 49 [1.224| 1
Roots 16.333

2 | &1L E=E 2121014 |5|24| 46 | 69 |0.666| 3
ARAT 30.000

3| KE Z27% 2/1/1| 5|7 (23| 48| 62 [0.774] 2
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IR~ 3 CH#E 5 3EHER

=

20114E8 A 14H £33 (&8

No NAME k/V/L/DWP HR|BG| P | AVE | R
1| R i 2/2/0| 4|6|13]| 74 | 89 |0.831| 2
ARAI 24.054
2| gk sl 4/0/0|l 86|13 80| 80 |1.000| 1
TF‘/\‘I/X 20.000
3| KRR 1/3/0| 2|6(22| 61| 79 [0.772] 4
—a2—X1k 25.901
4| A fE— 0/4/0{0|4]|-|57]| 96 |0593| 5
aF)L— A 33.684
5| Tk & 2/2/0| 4|8]|25| 65 |112]0.580| 3

BAZ 34.461
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0.82 0.6 0.911 0.833 0.571  #DIV/0! W =20 |G. A|337]|456(0.739
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